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https://www.ck12.org/physics/mechanical
-wave/lesson/Mechanical-Wave-MS-PS/

https://physicstoday.scitation.org/doi/
10.1063/PT.3.4880

https://www.seis-insight.eu/en/public-2/planetary-
seismology/seismic-waves





Particle impacts make visible the interference pattern of
waves Source: Thierry Dugnolle/Wikimedia
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N. Christensen - Moriond gravitation session 2017
J. Gair graduate seminar-Cambridge 2005
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Quiz 1

(a)  = 2x-4t                                                                               1

(b)  = 4x-8t                                                                               2

(c)  = 8x-16t                                                                             3
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Quiz 2
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1. , = 2 ( )
2. , = (3 )
3. , = 2 (3 )

) /k    ( ) , cos ( ) , =

) 2, 3, 1 ( ) 3, 1=2
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P(x, y, z, t) = P(x, y, z, t) – P

.





 1 , = ( + )

=3=10mm T=20ms

= 2 =2 /10mm=200 m-1 = 2 =2 /20ms=100 s-1  = 0.73

x=0, t=0 y=-2mm  , = . . + = = ( = . )



 2 , = . ( . . )

)  x=22.5cm  t=18.9s

)  

) = 0.00327 × 2.72 cos 72.1 × 0.225 2.72 × 18.9 = 7.2 /

) 0.00327 × 2.72 × 72.1 × 0.225 2.72 × 18.9 =
14.2mm/s2

) /k=2.72/72.1=0.038cm/s


